km 0+150

Warstwa wyréwnawcza m2 -0.236
Wykop - 0.715

Nasyp - 0.114
p.p 135.00
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km 0+175
Warstwa wyréwnawcza m2 -0.216
Wykop - 1.187
Nasyp - 0.0
p.p 135.00
5 8 8 S 8 3 2
RZEDNE PROJEKTOWANE © ~ ~ o ~ o~ <
S 3 9 a a9 a
o e} o N~ o
< N ™ N \E
RZEDNE ISTNIEJACE 5 > & > P>
— — — — —
, o w0 9 o 2
ODLEGLOSC| ~ Y S S 0
km 0+200
Warstwa wyréwnawcza m2 -0.277
Wykop - 1.041
Nasyp - 0.014
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km 0+225

Warstwa wyréwnawcza m2 -0.308

Wykop - 0.79
Nasyp - 0.21
p.p 135.00 w
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km 0+250
Warstwa wyrownawcza m2 -0.216
Wykop - 1.25
Nasyp - 0.378
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km 0+264
Warstwa wyréwnawcza m2 -0.225
Wykop - 0.0
Nasyp - 0.18 o B
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